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BCQ/D-20 26097
FINANCIAL MANAGEMENT
BC-502
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is comprising of five short answer type
questions carrying 4 marks each is compulsory. Attempt
four questions from the remaining eight questions
carrying 15 marks each.
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Compulsory Question ( IFaTE WvT)

1. Write notes on the following : 4x5=20
(1) Explain features of sound financial plan.
(i) Distinguish between Budget and Forecast
(iii) What 1s the significance of Capital Budgeting ?
(iv) Explain any four features of optimum capital
structure.

(v)  What are the objectives of Cash Management ?
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2. What do you mean by Financial Management ? Discuss

the chief functions of Financial Management. 15
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3. What is meant by under-capitalisation ? Discuss the causes

and remedies of under-capitalisation. 15
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4. What are the sources of Long-term finance of a company ?

Explain each source in brief. 15
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5. The following information has been extracted from the
balance sheet of AB Ltd. as on March, 31, 2017 : 15

% (Lakh)

Equity (X 100 each) 200
11% Debentures 40
9% Term loan 160
400

Corporate tax rate applicable to the company is 35%.

(a) You are required to determine the weighted average
cost of capital of the company. It had been paying
dividends at an average rate of 12%.

(b) Will the weighted average cost be different if the
market price of ¥ 100 share is ¥ 150 ?
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¥ (Lakh)

9@ (% 100 Th) 200
11% o9 40
9% STl Rl 160
400

FOA W R B W (tax rate) 35% o e B
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6. A Co. is considering the purchase of a new machine. Two

machines (A and B) have been suggested, each having an
initial cost ¥ 3,80,000 and requiring I 20,000 for
installation. Earnings after taxation are expected to be as

follows :
Year Cash Flows
Machine A Machine B
1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000

5 1,60,000 80,000

The company has a target of return on capital 10% and
on this basis, you are required to compare the profitability
of the machines and state which option you consider
financially preferable. 15
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1 40,000 1,20,000
2 1,20,000  1,60,000
3 1,60,000  2,00,000
4 2,40,000  1,20,000
5 1,60,000 80,000
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7. What is Optimum Capital Structure ? Discuss the fully
the traditional approach of Capital Structure. 15
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8. What is Payback method of Capital Budgeting ? What
are its limitations ? What are the reasons for its popularity
despite its limitation ? 15
TSt =wfen w1 ot sl fafy @ @ 2 z@et F
dmrd & 2 goenl dmel & aeeR off suhl Ak iyEd ®
1 HE T ?

9. What is the meaning of Working Capital ? Explain the
factors affecting the working capital requirements of a
business. 15
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